[BZ1-1)a) 38+ 79+ 72 (b) 29 —2 (c.) 24 (d)7R—9 — 22 (e.) =~ 0.297(= 17°) (f)
8/V/5 ~ 3.578 (2)3V6 ~ 7.348;¢ = (A x B) /|4 x B|
BZ 1-4] (a) FILL (b)) PEIMMET 22m 15
BHE1-5) @) 494.53s¢ec; AT 1%a7E - EAEEE ? difS R FM B AT ZOR AT HE R
JE o AH¥TRERREAER > 42 0.01 Y ER VAR ERZ BN R E BERRZE < (b.) 174.2m (580.71t)
(c.) 201.2m
[52% 1-6]) (a) 61.7km/hr (b.) 39.8km/hr
[52 1-7) (a) = 23.7km/hr (b.) vq-[(1 + pg - cot8)/(1 — pg - cot6)]Y/2 ; 74.5km/hr
[52% 1-9]) (b.) ~24.8cm
(52 1-10] (b)) DUE BT BT ES) - R AR w, = (2aD,/m)1/? -
BE 1-12] [RAERBE O EZ% 2B ES F o BEFEARERE @RS D) R/6 B -
(%% 1-13] zem = (/DR
[&% 1-14]) (@) 11.1 x 103 km/sec (b.) 16.3km/sec (c.) 88.4m/sec?
BEE 1-160] NZE G4 S E R
[%2 1-18]) 35AU - [LERREC HEEE F 2rHE
[&221-20) (@) 6.28 x 10* m/sec ; 464 m/sec (b.) 2.66 X 102 m/sec? (c.) bbHrERA
2.71 x 10114 (d.) 5.50 x 10*[& (e.) 1.89 x 10°m
[ 1-21]) (a) 14.3° (b)) 1.87sec

U255 1:23 B = tan™" ((1/20) [(1 + 225 /(1 + 2]

[5% 1-24] 2.3m
[&2£1-25) F(O) = (1/2) - mg - tan[tan" Y (w/h) — 0] ; Bpax = tan"t(w/h)
[52% 1-26) &/ I =3MR?/2 ; &4 1 =5MR?/4
[%2 1-27) (253/512)MR?
(5% 1-28) T=287%x10""*
[EZ1-29] a—(1+M/2m) g
[ 2% 1-30]) 0.49sec
2/3 —1/4 —1/4
[52% 1-31) 1 = Ma? ( 1/4 2/3 —1/4)
1/4 —1/4 2/3
ZEFEE+9+2)/V38x +y +z = 0 H(TEMEEL B EE > Fla:
(& —9)/V2HL(R + 9 — 22) /N6 - i F B EE 5> 51 AMa?/6 ~ 11Ma? /1281
11Ma?/12 -

1/6 0 0
I=Ma2( 0 1/6 0 )
0 0 1/6

[%2£1-32])] 3.53cm
[ 1-33) p = 109.8 x 103kPa; p = 1064 kg/m?3



[%Z£2-2)] A=1.26m;f = 3.98Hz; v = —5% (m/sec)
[ 2-3) v, = 5.25km/sec ; v = 3.0km/sec
[%2£2-4]) (a) 32.6m/sec (b.) 1,292Hz

[Z2£2-5) 5.0m

(‘5% 2-6] A=265; ¢ =0.714

(%% 2-7) 448Hz ; FFEHFHMAIFRL7.1mm -

% 28] f(x) = (m/2) — (4/m) - p=13,... cos(nx)/n?
[%2%2-9] 88.9m

(&% 2-10] 86dB

(%% 2-11] 8.65Hz

[AZ3-1] 1:0.808 % 10736

_ y _ y -
q ((y2+<z—d/2)2)3/2 <y2+<z+d/2)2)3/2)y

{:171< 3- 2] (a) P Q z—d/2 z+d/2 )
)2

tq- ((y2+<z—a/2)2)3/2 T 24 (z+d/2)2)3

1 . . q.d —
(b.) _4-7'[80 Q ((y2+(d/2)2)3/2) ) 418, (
[523-3] 1.9 x 1077 m/sec
[ZZ%3-5]) —(Mo/47f)(CI1CI2/4r v, 9

(\/m_ ) E(y)_zmeo(l_\/%yz)j;
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}

[BEZE36) V() =

_Jr

S 2. ,2_ [p2 1 ,2
[(EZE3-71V(2) =— (\/R2+Z JR? +z ) E(z) = (\/@ \/@)
(&% 3-8] —7.5°
[%2%39]) (a) F=-533%x10"%9nt (b) 2=0
[%%3-12) —(n/r™ D)7
[ 3-13) = 0.0153 ; —(% + 29 + 32)/V14
[ 3-14) (@) E(r) = 2V, /a?)re /o’ ¢
(b.) p(r) = (2&9Vo/a?)(1 — 2(r/@)De~ /D" (c.) Quor = 0
[%2£3.15) V- (F(r)?) = 2(F(r)/r) + dF(r)/dr
[%2£3.16] V- ") = (n 4 2)r" !
[&23-17) (@) ®R+9+2)/V3 (b) x+y+2z=3
(%22 3.18) E(ry) = 2.94 x 10*# nt/Coul ; E(r,) = 5.89 X 1037 nt/Coul ; r = 0.167m
[%Z£3-19]) E(r)——grr r <R E E(r)——gr r>R

(%% 3-20] (3/20) - (Q*/meo) - (1/R)  BRPAERERINATATHRERLE Fyl ¢ 5

(%% 3211 (1/8) - (Q%/meo) - (1/R); FrAMVEEEIIREFAEE RS
(%2 3-22) BEABAHFNREERU = (1/2)CV?

oy 03
-W ‘W



(&2 3-23] Reqg = R

2223947 (1) %6.00mA (b.) 12.0mA
[%223-25) iy = 0.0909A : i, = 0.545A ; i = 0.636A ;
[5223-26) iy = 0.251A [A]45 § iy = 0.625A [A]45 5 iz = 0.251A [A] I

i, =0.375A A It is = 0.152A [A45 5 ig = 0.403A A T : i, = 0.403A [ /£
P(Vemg1) = 1.50W ; P(Veryro) = 23.2W

[52%£3-27] R = 13.25KQ

223987 (a.) 15.0mA (b)) 16.4mA (c.) 15.0mA (d.) 1.93sec
[E%3-30] 0
[522331) (a) B, =B Vx4, =0 ;(b) By =B%VxA,=0;(c) Bs =B;VxAs=

(5% 3-32] (@) (1+m)2 daimstd (b) 5 5 A4TH

(%2 3-33) U475 &0, - (E x B) = E2(9614 5 R
[EZE3-34) BBHEEIN © Einduced = —(1/2)ponwlyr - cos(wt)
PEHEEN © Einduced = —(1/2)ponwlyr - cos(wt) /7

(%2 3-35] €induced emf = (o/27)(pa/DIn((d + a)/d)e~"/*
[% 2 3-36) 112.3rad/sec (= 1,072rpm)
[% % 3-37) /]N1004%
[&2 3-38] (a.) 5.00V (b)) 100.A (c.) REFREIFEFTIE (d.) ZC4H PR TE
[%%22 3-39]) firossover = 503.0Hz

%22 3.40] (a.) Co = 0.392pF (b.) Ry = 11.9Q
[%522 3-43) pp, = —2ax ; Qu(x = 0) = —bAHLQ,(x = L) = —A(L? + b)

P L/2-z L/2+z
280 J(L/2-2)2+R2  \[(L/2+2)%2+R?

< 3-46) A (c.) IR RS -
23.47) (a) E(z,t) = 4.44e79126 co5(27r X 103t — 0.1262 + 60°) £ V/m
H(z,t) = 100e°1262 cos(27 X 103t — 0.126z + 15°) § mA/m (b.) z ~ 37m
[52% 42] AL =233 x10713m
(%% 4-4] 0.4C
[&2% 4-5) x = (0.74c)t ;y = (0.300)t
K2 4-6]) (a) 0.600C ; 4.44 x 107 8sec (b.) R OJBERERMRITH
(&% 47 @) Le/C () VA =B)/A+B) Le/C () 1= B2 Lo/C
B ZE 4-8) Atggren = 10°sec(11.6days)
[52£4-9]) 1.6sec
%22 4-10]) (a.) 2.6sec (b.) 2.2sec (c.) 3.3 X 108m
[EZE 4-11) a; = (ﬁM)B ‘a, > al,= (—‘WY “ay

1-u,v/c? y 1-u,v/c?

[EZ£3-44) E
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(%2 4-13) F=—24%3

41TEy Y2x2



(4522 4-14) F, = 1 q192 (x+vuyy/c?+vu,z/c?)

= =
FrER ¥ amg (V2x2+y2+22)3/2

_ 1 @@y-vuy/c?) L 1 41d22(1-vuy/c?)

Y amey ' (y2x24y2+422)3/2 0 "7 amey ' (y2x2+y2+22)3/2

[&2% 4-17) v/c = 0.355
[&Z 4-18) v/c = 0.22
[&Z 4-19]) 0.697g
(%522 4-20) v = 0.548¢
(522421 @) (1/V2)e () VITm (c) (1/V18)c
#224.02] (a) 0.999996-C (b.) 23,220MeV (c.) 333,700MeV
BZ 4-24]) (a) 533 (b) 267 (c.) #hih A UEI1067{E R EHE 5 #k4k B UnE1333(EE
FEHE (d) ik B EAFEST 2 42 8 A A



